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[˝Á◊SLÓ ( Commerce ) 
Y“U] Yy ( 1st Paper )  

Mathematics : ECO-1 

◊[˝\ˆÁG-Fı ( Group-B ) 
Y…SÔ]ÁX  f 50 (Full Marks : 50)  
]Á„XÃ[˝ mÃ[˝”±ºˆ  f 30% (Weightage of Marks : 30%) 

 
Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 

%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 
ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for precise and correct 

answer. Marks will be deducted for spelling mistakes, 
untidiness and illegible handwriting. The figures in the 

margin indicate full marks. 

Fâ¯ — Eı 

             Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX* 20 × 1 = 20 

1. (a) ÂVFÁX Â^  
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 (b) 2yzx ∝ , 2aby ∝  A[˝e 
a
bz ∝  c˜„_, ÂVFÁX Â^ 

axb ∝4 .  5 

 (c) ^◊V 02 =+− qpxx  a]›EıÃ[˝„SÃ[˝ [˝›LV«◊ªRÙOÃ[˝ %‹ôˆÃ[˝ 

A[˝e 02 =+− pqxx  a]›EıÃ[˝„SÃ[˝ [˝›LV«◊ªRÙOÃ[˝ %‹ôˆÃ[˝ 

AEıc˜O c˜Ã^ A[˝e qp ≠  c˜Ã^, Tˆ„[˝ ÂVFÁX Â^ 

04 =++ qp  c˜„[˝* 5 

 (d) ^◊V 3y  ◊XW˝ÁX-aÁ„Y„l˘ 2x -AÃ[˝ _GÁ◊Ã[˝VÀ],     
12x  ◊XW˝ÁX-aÁ„Y„l˘ 8y -AÃ[˝ _GÁ◊Ã[˝VÀ„]Ã[˝ a]ÁX 

c˜Ã^, Tˆ„[˝ Y“◊Tˆ◊ªRÙO _GÁ◊Ã[˝VÀ„]Ã[˝  ]ÁX ◊XSÔÃ^ EıÃ[˝”X* 5 

2. (a) 1 A[˝e 70-AÃ[˝ ]W˝Ó[˝Tˆfi 22 ◊ªRÙO a]Á‹ôˆÃ[˝ ]W˝ÓEı ◊XSÔÃ^ 

EıÃ[˝”X* 5 

 (b) ÂVFÁX Â^,  

  22
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−+
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+ . 5 

 (c) X›‰ªJÙÃ[˝ Ê`“S›◊ªRÙOÃ[˝ n-aeFÓEı YV Y^Ô‹ôˆ Â^ÁGZı_ ◊XSÔÃ^ 

EıÃ[˝”X : 
  5 + 55 + 555 + ... . 5 

 (d) )1(log 2xxe ++ -AÃ[˝ ◊[˝ÿô ˆ◊TˆÃ[˝ 9x -AÃ[˝ ac˜G 

◊XSÔÃ^ EıÃ[˝”X, Â^FÁ„X 1|| <x * 5 

Fâ¯ — F 

                 Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX* 12 × 2 = 24 

3. (a) ^◊V n W˝XÁ±¡Eı Y…SÔaeFÓÁ c˜Ã^, ÂVFÁX Â^, 
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 (b) 6 LX \ˆV–„_ÁEı C 4 LX \ˆV–]◊c˜_Á ÂU„Eı 5 L„XÃ[˝ 

AEı◊ªRÙO Eı◊]◊ªRÙO GPˆX EıÃ[˝„Tˆ c˜„[˝* Y“„TˆÓEı Eı◊]◊ªRÙO„Tˆ 

%‹ôˆTˆf 1 LX \ˆV–]◊c˜_Á C 2 LX \ˆV–„_ÁEı UÁEı„[˝X 

AÃ[˝÷Y Eı◊]◊ªRÙOÃ[˝ aeFÓÁ ◊XSÔÃ^ EıÃ[˝”X* 6 

4. (a) AEı◊ªRÙO aÃ[˝_„Ã[˝FÁ (–5,8) C (1,0) ◊[˝≥V« V«◊ªRÙOÃ[˝ 

ae„^ÁGEıÁÃ[˝› ÂÃ[˝FÁe„`Ã[˝ ]W˝Ó◊[˝≥V«GÁ]› A[˝e ÿöˆÁXÁ·¯ 

%l˘ V«◊ªRÙO ÂU„Eı a]ÁX ÈV„HÔÓÃ[˝ C ◊[˝YÃ[˝›Tˆ ◊ªJÙc˜‘^«N˛ 

%e` ◊ªK˜~ Eı„Ã[˝* aÃ[˝_„Ã[˝FÁ◊ªRÙOÃ[˝ a]›EıÃ[˝S ◊XSÔÃ^ 

EıÃ[˝”X* 6 

 (b) 0154822 =+−−+ yxyx  [˝ „w¯Ã[˝ ÂEıÁX [˝ÓÁ„aÃ[˝ 

AEı◊ªRÙO Y“Á„‹ôˆÃ[˝ ÿöˆÁXÁ·¯ (2,1) c˜„_ [˝ÓÁa◊ªRÙOÃ[˝ %YÃ[˝ 

Y“Á‹ôˆ◊[˝≥V«Ã[˝ ÿöˆÁXÁ·¯ ◊XSÔÃ^ EıÃ[˝”X* 6 

5. (a) AEı [˝Ó◊N˛ Ê∫RÙOªRÙO [˝ÓÁeEı ÂU„Eı ◊EıªK«˜ ªRÙOÁEıÁ [˝Á◊bÔE 16%ı 

ªJÙy‘[˝ ◊à˘ c˜Á„Ã[˝ W˝ÁÃ[˝ ◊X_ A[˝e V«◊ªRÙO a]ÁX [˝Á◊bÔEı 

◊Eı◊ÿôˆ„Tˆ Â`ÁW˝ EıÃ[˝ÁÃ[˝ ªJ«Ù◊N˛ EıÃ[˝_* ◊Eı◊ÿôˆÃ[˝ Y◊Ã[˝]ÁS 

1,682 ªRÙOÁEıÁ c˜„_, @„SÃ[˝ Y◊Ã[˝]ÁS A[˝e a«„VÃ[˝ 

Y◊Ã[˝]ÁS ◊XSÔÃ^ EıÃ[˝”X* 6 

 (b) ]ÁX ◊XSÔÃ^ EıÃ[˝”X : ⎥
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6. (a) ÂEıÁX %◊W˝[˝ „w¯Ã[˝ `›„bÔÃ[˝ ÿöˆÁXÁ·¯ (2,3) A[˝e XÁ◊\ˆ_„∂ëˆÃ[˝ 

W˝ÁÃ[˝Eı aÃ[˝_„Ã[˝FÁÃ[˝ a]›EıÃ[˝S x = 4 c˜„_, %◊W˝[˝ w¯◊ªRÙOÃ[˝ 

a]›EıÃ[˝S ◊XSÔÃ^ EıÃ[˝”X* 6 

 (b) 029 22 =−+ yyx  =Y[˝ „w¯Ã[˝ XÁ◊\ˆ_„∂ëˆÃ[˝ ÈVHÔÓ, 

=d„Eı≥V–TˆÁ A[˝e ÂEı‰≥V–Ã[˝ C XÁ◊\ˆ•„Ã^Ã[˝ ÿöˆÁXÁ·¯ ◊XSÔÃ^ 

EıÃ[˝”X* 6 

Fâ¯ — G 

             Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX* 6 × 1 = 6 

7. Y“]ÁS EıÃ[˝”X Â^, 0
d
d

=− y
x
y

x  Â^FÁ„X 

936 )( yxyx += . 6 

8. ]ÁX ◊XSÔÃ^ EıÃ[˝”X : ∫
1

0

2 dxex x . 6 

9. V«◊ªRÙO aeFÓÁÃ[˝ Â^ÁGZı_ 12 c˜„_, aeFÓÁV«◊ªRÙOÃ[˝ mSZı„_Ã[˝ [˝ c˜w¯] 

]ÁX ◊XSÔÃ^ EıÃ[˝”X* 6 
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English Version 
Section–A 

  Answer any one question. 20 × 1 = 20 
1. (a) Show that  
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 (b) If 2yzx ∝ , 2aby ∝  and 
a
bz ∝ , show that 

axb ∝4 . 5 
 (c) If the difference of the roots of 

02 =+− qpxx  and the difference of the 

roots of 02 =+− pqxx  are equal and if 

qp ≠ , show that 04 =++ qp . 5 

 (d) If the logarithm of 2x  with respect to the 

base 3y  be equal to the logarithm of 8y  

with respect to the base 12x , find the value 
of each logarithm. 5 

2. (a) Find 22 arithmetic means between                 
1 and 70. 5 

 (b) Show that  

  22
5372

537

5372

537 =
−+

−+
++

+ . 5 

 (c) Find the sum to n terms of the following 
series : 

  5 + 55 + 555 + ... . 5 

 (d) Find the coefficient of 9x  in the expansion 

of )1(log 2xxe ++  where 1|| <x . 5 

Section–B 
  Answer any two questions. 12 × 2 = 24 
3. (a) If n be a positive integer, show that the 

coefficient of 
x
1  in the expansion of 

n
n

x
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⎜
⎝
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 (b) A committee consisting of 5 members is to 
be formed from 6 gentlemen and 4 ladies. 
Find the number of different ways in which 
such a committee can be formed if each 
committee contains at least 1 lady and             
2 gentlemen. 6 

4. (a) A straight line passes through the middle 
point of the segment joining the points       
(–5,8) and (1,0) and it cuts off intercepts of 
equal magnitude but of opposite signs from 
the axes of co-ordinates. Find the equation 
of the straight line. 6 

 (b) If the co-ordinates of one end of a diameter 

of the circle 0154822 =+−−+ yxyx  are 

(2,1), find the co-ordinates of the other end 
of the diameter. 6 
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5. (a) A person makes a loan of some money from 
the State Bank at a compound interest of 
16% per annum and agrees to repay the 
loan in two equal yearly instalments. If the 
amount of each instalment be Rs. 1,682, 
find the amount of loan and find the 
amount of interest. 6 

 (b) Evaluate : ⎥
⎦

⎤
⎢
⎣

⎡
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→ 4

23
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xx
x
lim . 6 

6. (a) If the co-ordinates of the vertex of a 
parabola are (2,3) and the equation of the 
latus rectum is x = 4, find the equation of 
the parabola. 6 

 (b) Find the length of the latus rectum, the 
eccentricity and the co-ordinates of the 
centre and the foci of the ellipse 

029 22 =−+ yyx . 6 

Section–C 

  Answer any one question. 6 × 1 = 6 

7. Prove that 0
d
d

=− y
x
y

x , where 936 )( yxyx += .  

  6 

8. Evaluate : ∫
1

0

2 dxex x . 6 

9. Find the maximum value of the product of two 
numbers if the sum of the two numbers is 12. 6 
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